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QUESTION 1

A customer has the following requirements for an HPE Synergy solution: 

Data for the internal application needs to be stored in the frame. 

Compute modules need to have access to a large database on an external storage array. 

The Synergy infrastructure should be managed with HPE OneView. 

How should a Synergy integrator configure the module installation? 

A. two SAS Connection Modules into bays 1 and 2; two Synergy 40Gb F8 switch module into bays 3 and 4; two
Brocade 16 Gb/12 Fibre Channel switches into bays 5 and 6 

B. two SAS Connection Modules into bays 1 and 4; two HPE Synergy Virtual Connect SE 40Gb F8 modules into bays 3
and 6 

C. two SAS Connection Modules into bays 1 and 2; two HPE Synergy Virtual Connect SE 40Gb F8 modules into bays 3
and 4 

D. two SAS Connection Modules into bays 1 and 4; two Synergy 40Gb F8 switch module into bays 2 and 5; two
Brocade 16 Gb/12 Fibre Channel switches into bays 3 and 6 

Correct Answer: C 

 

 

QUESTION 2

A customer need four Synergy compute nodes to provide virtual machine access to six VLANs over a single link
aggregation group. 

How can the Synergy integrator configure the environment to meet the customer\\'s needs? 

A. Create a single tunnel network and assign it to one or more interfaces in the server profile template. 

B. Create six untagged networks and assign them to one or more of the interfaces in the server profile template. 

C. Create six untagged networks, associate them with an IP address pool, and assign them to one or more of the
interfaces in the server profile template. 

D. Create six untagged networks, add them to a network set, and assign that network set to one or more interfaces in
the server profile template. 

Correct Answer: A 

 

 

QUESTION 3
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A Synergy integrator is creating a network that must be connected from the HPE Synergy Virtual Connect SE 40Gb F8
module to an Ethernet switch carrying 500 VLANs for the hypervisor cluster. Which network should the Synergy
integrator select during network creation? 

A. Ethernet Tunneled 

B. Ethernet Channeled 

C. Ethernet Tagged 

D. Ethernet Untagged 

Correct Answer: A 

 

QUESTION 4

DRAG DROP 

A customer needs to add Image Streamer to a Synergy 3-frame environment. 

Use the arrow or click and drag all of the tasks required to perform this upgrade on the left into the correct order on the
right. (Note: not all steps may be needed.) 

Select and Place: 

Correct Answer: 
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QUESTION 5

A customer needs a consolidated infrastructure view for HPE Synergy and HPE BladeSystem c7000 enclosures. Which
approach should the Synergy integrator take to meet the customer\\'s needs? 

A. Enable federation in the HPE OneView appliance and add remote HPE OneView instances. 

B. Add remote enclosures to monitor the BladeSystem c7000 enclosures. 

C. Deploy HPE OneView Global Dashboard. 

D. Extend the Synergy out-of-band management ring to the c7000 Onboard Administrator ports. 

Correct Answer: C 
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